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SA: EXND
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CHelr DMEAO EXHE 29 (eol:@e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
E X3 12,227,271 12,400,755 £ 173,484
2 11,609,226 11,782,710 £ 173,484
< 618,045 618,045 0
Exizelo 585 12,188,532 12,362,016 A 173,484
= 11,609,226 11,782,710 A 173,484
= 579,306 579,306 0
DASHO EXNHY 29 899,953 899,953 0
= 871,153 871,153 0
= 28,800 28,800 0
HEZAIXI PR (2 D) 890,653 890,653 0
= 871,153 871,153 0
= 19,500 19,500 0
101 0124t 24,000 20,000 4,000
= 12,000 10,000 2,000
= 12,000 10,000 2,000
04JIAMIESE S 24,000 20,000 4,000
ONEZAIKIL EA 2 24,000 20,000 4,000
2 12,000 10,000 2,000
= 12,000 10,000 2,000
201 Yute S| 9,000 4,000 5,000
=2 4,500 2,000 2,500
< 4,500 2,000 2,500
01 At 2+2l 9,000 4,000 5,000
ONEBAIXD P2z 9,000 4,000 5,000
= 4,500 2,000 2,500
= 4,500 2,000 2,500
405 X+ &3 S| 0 9,000 £9,000
2 0 4,500 A 4,500
< 0 4,500 A 4,500
01 Mtarg 223 S 0 9,000 £9,000
OMNLBAIXI 228 ZHl 7L 0 9,000 £9,000
2 0 4,500 4,500
< 0 4,500 4,500
XI = TH & AbAHEY 5,588, 181 5,761,665 A 173,484
2 5,580,281 5,753,765 A 173,484
< 7,900 7,900 0
NEHEAAY 2 (2D) 5,580,281 5,753,765 A 173,484
= 5,580,281 5,753,765 A 173,484
201 Yute A | 8,000 0 8,000
= 8,000 0 8,000
AR 8,000 0 8,000
ONHWEAMSIEE 29 L 222 WX 8,000 0 8,000
= 8,000 0 8,000
202 01 2,000 0 2,000
2 2,000 0 2,000
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01 S LHOYI 2,000 0 2,000

OXETIH=AL ALY =& 2,000 0 2,000

= 2,000 0 2,000

308 MtXIEHMSOIA 5,570,281 5,753,765 N 183,484

= 5,570,281 5,753,765 N 183,484

01 HXHHBAEES 5,570,281 5,753,765 N 183,484

OXIETHZA AbS 5,570,281 5,753,765 A 183,484
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5,570,281 5,753,765 N 183,484




